Bt @Tad g 12,
(M Q&Ow ezm &X),au' fj ;ﬁ; ANV,
g " exp i Ly e

&) ek s, gy oy Lo 1)

KLO @ g e -@. Pgm‘l— (Q_)

@ Qon+\(_7":—

(a)—Smx+7j j :O

L2 i
/o P20y saoy
L5 '
(5) G = §— cos X \2
y = é’-c@g x) -:{\dps X=-5)
/

=y = g_(cosx—g) (svlﬂ

(Cl) D/: +2\ = gu. X =1 fl\f{éasx-s—)b Su X

:—+’l\cosx-s—[g\:\.)(:.,.145,_}'6,05)(}90_)( L

(wa 760554 S’k = = (Q@C&—g\ $*¢5’-;-Cf)g

hemmK 4 O QJWG*-'

-

= -2 dogn -5 BFK


hmills1
Line

hmills1
Line

hmills1
Line

hmills1
Line

hmills1
Line

hmills1
Line

hmills1
Line

hmills1
Line

hmills1
Line


3
53%‘9/+9¥?jij/”xqj/ - \{x3,7_1xfj
3 3 uj
(gt ey o) = Y
gy ) -




e S/%bfg’( 9,28 28,32 -
Jesx =1y s (x




1 F > gl
o1 S‘f%‘CgJ_ #5 6 32 33

@ y%+j§:/ @ (—?ﬁ/)

‘ !
2 - o 0
- £y 5 . 3
7 - - _«_g = -_-‘LB — j— o \/y_‘
37 7 % \3/—*><
—— S
7 ()/ - : ) \
s _5\6 3 — . o | :I?
Y= —'%\fg _(3(?\2)
{ ‘ 1 |
= L U = T‘E — = _ = {
3 (& 3 T - _ T
B Z 3 5 3 X
V2

\

‘\ L
@C&) \jq' = % +%x T 4 T /. /
=0

f /.
Senim hauges, Lub,

24\ of wzpm,,?/a,b\[j é)(/ 7__\}

= 3X7+MX —_—

"2 +6 (/t = _ 2 - /,
BR Mq - "' = 5_;_(‘,)___,“ = — ¥ j
,Ew(_-z}} o
ﬂ,-z\; , === o

|
-9 iy \7_’/
‘\ 9= %(y ) |



Wy Q(Ms "‘{’L\/ ,
—.L = AU W Aaw A u
M?’W‘LS o' 2o,
Lj ! _ ?Y’l‘ﬁ—(ax Cer
- = —_
'?-—L7
Ik MHOx = O

><=(0==> L]"= 0?1“3(0)1:@@730
/
%c/‘;/ﬁu/u/ 7 2/,
W= 4 ==>
\71: (7—3 '*2(2\ =g L=y
=\ =
Vo Avswer. 2 Hoq f_@q,w «?‘am - '55 _ i
\-4
+t W.mf_w \(2 ')j (2 —2) (

e

(&) U e 'J/\/VM'QL/MW w ‘{/L\ = ?/’Cf‘r:_,t{ qé)(g,«%
a CAS.



Wi F2,T Wz

. { - 2 [ ,
@ | I ,7/ 4/7 V‘-m@_j%,vL ol § _;é’/{,af,_‘,é,c‘,

ey
“1)(7@_(37__ 7
;9x+27j/:0 ?;;’(7/- -
)%+/Z<\j/> _5_,‘“7& "= - ”
/ | g —@( - i}
y‘/ —-’2_(:7\-8 %‘Q‘( 7)-,84 |
'&7 ! Z \
7 ;
RESR S A
- - 2 ( ‘77'1«)— .‘71 = o2 x = By *
y 5 7’2
J
3
2 (81 x*-7,7%) STt 7
-7y ~ Blx -
= /‘—Lv% - ___.__-—-——2-



]

— The Cutve — Tangent (@ (-2,2)
— Tangent (@ (-2,-Z) — Tangent (@ (1,-2)




	201-3-6-01
	201-3-6-num32-drawing



